

JOURNAL OF MATHEMATICAL ANALYSIS AND APPLICATIONS 171, 1-13 (1992)

A Certain Fractional Derivative Operator and Its Applications to a New Class of Analytic and Multivalent Functions with Negative Coefficients

H. M. SRIVASTAVA

*Department of Mathematics and Statistics, University of Victoria,
Victoria, British Columbia V8W 3P4, Canada*

AND

M. K. AOUF

*Department of Mathematics, Faculty of Science,
University of Mansoura, Mansoura, Egypt*

Submitted by A. Schumitzky

Received July 26, 1990

Making use of a certain operator of fractional derivatives, a new subclass $\mathcal{F}_p(\alpha, \beta, \lambda)$ of analytic and p -valent functions with negative coefficients is introduced and studied here rather systematically. Coefficient estimates, distortion theorems, and various other interesting and useful properties of this class of functions are given; some of these properties involve, for example, linear combinations and modified Hadamard products of several functions belonging to the class introduced here. © 1992 Academic Press, Inc.

1. INTRODUCTION AND DEFINITIONS

Let \mathcal{S}_p denote the class of functions of the form:

$$f(z) = z^p + \sum_{n=1}^{\infty} a_{p+n} z^{p+n} \quad (p \in \mathbb{N} = \{1, 2, 3, \dots\}), \quad (1.1)$$

which are analytic and p -valent in the open unit disk $\mathcal{U} = \{z: |z| < 1\}$. Also let \mathcal{F}_p denote the subclass of \mathcal{S}_p consisting of analytic and p -valent functions which can be expressed in the form:

$$f(z) = z^p - \sum_{n=1}^{\infty} a_{p+n} z^{p+n} \quad (a_{p+n} \geq 0; p \in \mathbb{N}). \quad (1.2)$$

Following Owa [5], we say that a function $f(z) \in \mathcal{T}_p$ is in the class $\mathcal{T}_p(\alpha, \beta)$ if and only if

$$\left| \frac{p^{-1}z^{1-p}f'(z) - 1}{p^{-1}z^{1-p}f'(z) + 1 - 2\alpha} \right| < \beta \quad (z \in \mathcal{U}; 0 \leq \alpha < 1; 0 < \beta \leq 1). \quad (1.3)$$

The object of the present paper is to investigate a new class $\mathcal{T}_p(\alpha, \beta, \lambda)$ of analytic and p -valent functions $f(z)$ belonging to the class \mathcal{T}_p and satisfying the *additional* condition:

$$\left| \frac{\Omega_z^{(\lambda, p)}f(z) - 1}{\Omega_z^{(\lambda, p)}f(z) + 1 - 2\alpha} \right| < \beta \quad (z \in \mathcal{U}; 0 \leq \alpha < 1; 0 < \beta \leq 1; 0 \leq \lambda \leq 1), \quad (1.4)$$

where, for convenience,

$$\Omega_z^{(\lambda, p)}f(z) = \frac{\Gamma(1+p-\lambda)}{\Gamma(1+p)} z^{\lambda-p} D_z^\lambda f(z) \quad (1.5)$$

in terms of the *fractional derivative operator* D_z^λ of order λ , defined below, with

$$D_z^0 f(z) = f(z) \quad \text{and} \quad D_z^1 f(z) = f'(z). \quad (1.6)$$

In view of the second relationship in (1.6), we find from (1.5) that

$$\Omega_z^{(1, p)}f(z) = p^{-1}z^{1-p}f'(z). \quad (1.7)$$

Thus the condition (1.4) reduces, when $\lambda = 1$, to the inequality (1.3), and we have

$$\mathcal{T}_p(\alpha, \beta, 1) = \mathcal{T}_p(\alpha, \beta), \quad (1.8)$$

where $\mathcal{T}_p(\alpha, \beta)$ is precisely the subclass of analytic and p -valent functions studied by Owa [5].

Furthermore, by specializing the parameters λ , α , β , and p , we obtain the following subclasses studied by various other authors:

- (i) $\mathcal{T}_1(\alpha, \beta, \lambda) = \mathcal{P}_\lambda^*(\alpha, \beta)$ (Srivastava and Owa [11]);
- (ii) $\mathcal{T}_1(\alpha, \beta, 1) = \mathcal{P}^*(\alpha, \beta)$ (Gupta and Jain [2]);
- (iii) $\mathcal{T}_p(\alpha, \beta, 0) = \mathcal{T}_p^*(\alpha, \beta)$,

where $\mathcal{T}_p^*(\alpha, \beta)$ represents the class of functions $f(z) \in \mathcal{T}_p$ satisfying the condition:

$$\left| \frac{z^{-p}f(z) - 1}{z^{-p}f(z) + 1 - 2\alpha} \right| < \beta \quad (z \in \mathcal{U}; 0 \leq \alpha < 1; 0 < \beta \leq 1). \quad (1.9)$$

Various operators of *fractional calculus* (that is, *fractional integral* and *fractional derivative*) have been studied in the literature rather extensively

(cf., e.g., [1, Chap. 13; 3; 6–8; 9, p. 28 *et seq.*; 12]). We find it to be convenient to restrict ourselves to the following definitions used recently by Owa [4] (and by Srivastava and Owa [10]).

DEFINITION 1 (Fractional Integral Operator). The *fractional integral of order λ* is defined, for a function $f(z)$, by

$$D_z^{-\lambda} f(z) = \frac{1}{\Gamma(\lambda)} \int_0^z \frac{f(\zeta)}{(z-\zeta)^{1-\lambda}} d\zeta \quad (\lambda > 0), \quad (1.10)$$

where $f(z)$ is an analytic function in a simply-connected region of the z -plane containing the origin, and the multiplicity of $(z-\zeta)^{\lambda-1}$ is removed by requiring $\log(z-\zeta)$ to be real when $z-\zeta > 0$.

DEFINITION 2 (Fractional Derivative Operator). The *fractional derivative of order λ* is defined, for a function $f(z)$, by

$$D_z^\lambda f(z) = \frac{1}{\Gamma(1-\lambda)} \frac{d}{dz} \int_0^z \frac{f(\zeta)}{(z-\zeta)^\lambda} d\zeta \quad (0 \leq \lambda < 1), \quad (1.11)$$

where $f(z)$ is constrained, and the multiplicity of $(z-\zeta)^{-\lambda}$ is removed, as in Definition 1.

DEFINITION 3 (Extended Fractional Derivative Operator). Under the hypotheses of Definition 2, the *fractional derivative of order $n + \lambda$* is defined, for a function $f(z)$, by

$$D_z^{n+\lambda} f(z) = \frac{d^n}{dz^n} D_z^\lambda f(z) \quad (0 \leq \lambda < 1; n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}), \quad (1.12)$$

where, as also in (1.1) and (1.2), \mathbb{N} denotes the set of natural numbers.

For functions belonging to the general class $\mathcal{F}_p(\alpha, \beta, \lambda)$, we prove a number of sharp results including, for example, coefficient and distortion theorems, and theorems involving modified Hadamard products.

2. A THEOREM ON COEFFICIENT BOUNDS

We begin by proving

THEOREM 1. *A function $f(z)$ defined by (1.2) is in the class $\mathcal{F}_p(\alpha, \beta, \lambda)$ if and only if*

$$\sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} (1+\beta) a_{n+p} \leq 2\beta(1-\alpha). \quad (2.1)$$

The condition (2.1) is sharp.

Proof. Assume that the inequality (2.1) holds true and let $|z| = 1$. Then we obtain

$$\begin{aligned} & |\Omega_z^{(\lambda, p)} f(z) - 1| - \beta |\Omega_z^{(\lambda, p)} f(z) + 1 - 2\alpha| \\ &= \left| - \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} z^n \right| \\ &\quad - \beta \left| 2(1-\alpha) - \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} z^n \right| \\ &\leq \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} (1+\beta) a_{n+p} - 2\beta(1-\alpha) \\ &\leq 0, \end{aligned}$$

by our hypothesis. Hence, by the maximum modulus theorem, we have

$$f(z) \in \mathcal{F}_p(\alpha, \beta, \lambda).$$

To prove the converse, assume that $f(z)$ is defined by (1.2) and is in the class $\mathcal{F}_p(\alpha, \beta, \lambda)$, so that the condition (1.4) readily yields

$$\begin{aligned} \left| \frac{\Omega_z^{(\lambda, p)} f(z) - 1}{\Omega_z^{(\lambda, p)} f(z) + 1 - 2\alpha} \right| &= \left| \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} z^n \right| \\ &\quad \cdot \left| 2(1-\alpha) - \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} z^n \right|^{-1} \\ &< \beta \quad (z \in \mathcal{U}). \end{aligned} \quad (2.2)$$

Since $|\operatorname{Re}(z)| \leq |z|$ for any z , we find from (2.2) that

$$\begin{aligned} \operatorname{Re} \left\{ \left[\sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} z^n \right] \right. \\ \left. \cdot \left[2(1-\alpha) - \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} z^n \right]^{-1} \right\} < \beta. \end{aligned} \quad (2.3)$$

Choose values of z on the real axis so that $\Omega_z^{(\lambda, p)} f(z)$ is real. Upon clearing the denominator in (2.3) and letting $z \rightarrow 1$ — through real values, we have

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} \\ & \leq 2\beta(1-\alpha) - \beta \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p}, \end{aligned} \quad (2.4)$$

which gives the desired assertion (2.1).

Finally, we note that the assertion (2.1) of Theorem 1 is sharp, the extremal function being

$$f(z) = z^p - \frac{2\beta(1-\alpha)\Gamma(1+p)\Gamma(n+1+p-\lambda)}{(1+\beta)\Gamma(n+1+p)\Gamma(1+p-\lambda)} z^{n+p}. \quad (2.5)$$

COROLLARY 1. *Let the function $f(z)$ defined by (1.2) belong to the class $\mathcal{F}_p(\alpha, \beta, \lambda)$.*

Then

$$a_{n+p} \leq \frac{2\beta(1-\alpha)\Gamma(1+p)\Gamma(n+1+p-\lambda)}{(1+\beta)\Gamma(n+1+p)\Gamma(1+p-\lambda)} \quad (2.6)$$

for every integer $n \in \mathbb{N}$.

3. A DISTORTION THEOREM OF THE CLASS $\mathcal{F}_p(\alpha, \beta, \lambda)$

THEOREM 2. *Let the function $f(z)$ defined by (1.2) be in the class $\mathcal{F}_p(\alpha, \beta, \lambda)$.*

Then

$$|f(z)| \geq |z|^p - \frac{2\beta(1-\alpha)(1+p-\lambda)}{(1+\beta)(1+p)} |z|^{p+1} \quad (3.1)$$

and

$$|f(z)| \leq |z|^p + \frac{2\beta(1-\alpha)(1+p-\lambda)}{(1+\beta)(1+p)} |z|^{p+1} \quad (3.2)$$

for $z \in \mathcal{U}$.

Furthermore

$$|D_z^\lambda f(z)| \geq \frac{\Gamma(1+p)}{\Gamma(1+p-\lambda)} |z|^{p-\lambda} - \frac{2\beta(1-\alpha)\Gamma(1+p)}{(1+\beta)\Gamma(1+p-\lambda)} |z|^{p+1-\lambda} \quad (3.3)$$

and

$$|D_z^\lambda f(z)| \leq \frac{\Gamma(1+p)}{\Gamma(1+p-\lambda)} |z|^{p-\lambda} + \frac{2\beta(1-\alpha)\Gamma(1+p)}{(1+\beta)\Gamma(1+p-\lambda)} |z|^{p+1-\lambda} \quad (3.4)$$

whenever $z \in \mathcal{U}$.

Proof. Since $f(z) \in \mathcal{F}_p(\alpha, \beta, \lambda)$, in view of Theorem 1, we have

$$\begin{aligned} \frac{(1+p)(1+\beta)}{1+p-\lambda} \sum_{n=1}^{\infty} a_{n+p} &\leq \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p)\Gamma(1+p-\lambda)}{\Gamma(1+p)\Gamma(n+1+p-\lambda)} (1+\beta) a_{n+p} \\ &\leq 2\beta(1-\alpha), \end{aligned} \quad (3.5)$$

which evidently yields

$$\sum_{n=1}^{\infty} a_{n+p} \leq \frac{2\beta(1-\alpha)(1+p-\lambda)}{(1+\beta)(1+p)}. \quad (3.6)$$

Consequently, we obtain

$$\begin{aligned} |f(z)| &\geq |z|^p - |z|^{p+1} \sum_{n=1}^{\infty} a_{n+p} \\ &\geq |z|^p - \frac{2\beta(1-\alpha)(1+p-\lambda)}{(1+\beta)(1+p)} |z|^{p+1} \end{aligned} \quad (3.7)$$

and

$$\begin{aligned} |f(z)| &\leq |z|^p + |z|^{p+1} \sum_{n=1}^{\infty} a_{n+p} \\ &\leq |z|^p + \frac{2\beta(1-\alpha)(1+p-\lambda)}{(1+\beta)(1+p)} |z|^{p+1}, \end{aligned} \quad (3.8)$$

which prove the assertions (3.1) and (3.2) of Theorem 2.

Next, by using the second inequality in (3.5), we observe that

$$\begin{aligned} &|z^p \Omega_z^{(\lambda, p)} f(z)| \\ &\geq |z|^p - \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} |z|^{n+p} \\ &\geq |z|^p - |z|^{p+1} \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} \\ &\geq |z|^p - \frac{2\beta(1-\alpha)}{1+\beta} |z|^{p+1} \end{aligned} \quad (3.9)$$

and

$$\begin{aligned} &|z^p \Omega_z^{(\lambda, p)} f(z)| \\ &\leq |z|^p + \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} |z|^{n+p} \\ &\leq |z|^p + |z|^{p+1} \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} a_{n+p} \\ &\leq |z|^p + \frac{2\beta(1-\alpha)}{1+\beta} |z|^{p+1}, \end{aligned} \quad (3.10)$$

which prove the assertions (3.3) and (3.4) of Theorem 2.

COROLLARY 2. Under the hypotheses of Theorem 2, $f(z)$ is included in a disk with its center at the origin and radius r given by

$$r = 1 + \frac{2\beta(1-\alpha)(1+p-\lambda)}{(1+\beta)(1+p)}, \quad (3.11)$$

and $D_{-}^{\lambda}f(z)$ is included in a disk with its center at the origin and radius R given by

$$R = \frac{\Gamma(1+p)}{\Gamma(1+p-\lambda)} \left\{ 1 + \frac{2\beta(1-\alpha)}{1+\beta} \right\}. \quad (3.12)$$

4. FURTHER PROPERTIES OF THE CLASS $\mathcal{F}_p(\alpha, \beta, \lambda)$

The proof of each of the following results in this section runs parallel to that of the corresponding assertion made by Srivastava and Owa [11] in the special case $p = 1$, and we omit the details involved.

THEOREM 3. Let $0 \leq \lambda \leq 1$, $0 \leq \alpha < 1$, and $0 < \beta \leq 1$.
Then

$$\mathcal{F}_p(\alpha, \beta, \lambda) = \mathcal{F}_p\left(\frac{1-\beta+2\alpha\beta}{1+\beta}, 1, \lambda\right). \quad (4.1)$$

More generally, if $0 \leq \alpha' < 1$ and $0 < \beta' \leq 1$, then

$$\mathcal{F}_p(\alpha, \beta, \lambda) = \mathcal{F}_p(\alpha', \beta', \lambda) \quad (4.2)$$

if and only if

$$\frac{\beta(1-\alpha)}{1+\beta} = \frac{\beta'(1-\alpha')}{1+\beta'}. \quad (4.3)$$

THEOREM 4. Let $0 \leq \lambda \leq 1$, $0 \leq \alpha_1 \leq \alpha_2 < 1$, and $0 < \beta \leq 1$.
Then

$$\mathcal{F}_p(\alpha_1, \beta, \lambda) \supset \mathcal{F}_p(\alpha_2, \beta, \lambda). \quad (4.4)$$

THEOREM 5. Let $0 \leq \lambda \leq 1$, $0 \leq \alpha < 1$, and $0 < \beta_1 \leq \beta_2 \leq 1$.
Then

$$\mathcal{F}_p(\alpha, \beta_1, \lambda) \subset \mathcal{F}_p(\alpha, \beta_2, \lambda). \quad (4.5)$$

COROLLARY 3. Let $0 \leq \lambda \leq 1$, $0 \leq \alpha_1 \leq \alpha_2 < 1$, and $0 < \beta_1 \leq \beta_2 \leq 1$.
Then

$$\mathcal{F}_p(\alpha_2, \beta_1, \lambda) \subset \mathcal{F}_p(\alpha_1, \beta_1, \lambda) \subset \mathcal{F}_p(\alpha_1, \beta_2, \lambda). \quad (4.6)$$

5. THEOREMS INVOLVING MODIFIED HADAMARD PRODUCTS

Let $f(z)$ be defined by (1.2), and let

$$g(z) = z^p - \sum_{n=1}^{\infty} b_{n+p} z^{n+p} \quad (b_{n+p} \geq 0; p \in \mathbb{N}). \quad (5.1)$$

For the *modified* Hadamard product of $f(z)$ and $g(z)$ defined here by

$$f \star g(z) = z^p - \sum_{n=1}^{\infty} a_{n+p} b_{n+p} z^{n+p}, \quad (5.2)$$

we first prove

THEOREM 6. *Let the functions $f_j(z)$ ($j = 1, \dots, m$) defined by*

$$f_j(z) = z^p - \sum_{n=1}^{\infty} c_{n+p,j} z^{n+p} \quad (c_{n+p,j} \geq 0; j = 1, \dots, m; p \in \mathbb{N}) \quad (5.3)$$

be in the classes $\mathcal{F}_p(\alpha_j, \beta_j, \lambda)$ ($j = 1, \dots, m$), respectively. Also let

$$\frac{2\lambda}{1+p} + \min_{1 \leq j \leq m} \{\beta_j\} \geq 1. \quad (5.4)$$

Then

$$f_1 \star \dots \star f_m(z) \in \mathcal{F}_p \left(\prod_{j=1}^m \alpha_j, \prod_{j=1}^m \beta_j, \lambda \right). \quad (5.5)$$

Proof. Since $f_j(z) \in \mathcal{F}_p(\alpha_j, \beta_j, \lambda)$ ($j = 1, \dots, m$), by using Theorem 1, we have

$$\sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} (1+\beta_j) c_{n+p,j} \leq 2\beta_j(1-\alpha_j) \quad (5.6)$$

and

$$\sum_{n=1}^{\infty} c_{n+p,j} \leq \frac{2\beta_j(1-\alpha_j)(1+p-\lambda)}{(1+\beta_j)(1+p)} \quad (5.7)$$

for each $j = 1, \dots, m$.

Using (5.6) for any j_0 and (5.7) for the rest, we obtain

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p) \Gamma(1+p-\lambda)}{\Gamma(1+p) \Gamma(n+1+p-\lambda)} \left(1 + \prod_{j=1}^m \beta_j \right) \prod_{j=1}^m c_{n+p,j} \\ & \leq \frac{2[2(1+p-\lambda)/(1+p)]^{m-1} \prod_{j=1}^m \beta_j (1-\alpha_j)}{\prod_{j=1, j \neq j_0}^m (1+\beta_j)} \\ & \leq \frac{2[2-2\lambda/(1+p)]^{m-1} \prod_{j=1}^m \beta_j (1-\prod_{j=1}^m \alpha_j)}{(1 + \min_{1 \leq j \leq m} \{\beta_j\})^{m-1}} \\ & \leq 2 \prod_{j=1}^m \beta_j \left(1 - \prod_{j=1}^m \alpha_j \right), \end{aligned}$$

since

$$0 < \frac{2 - 2\lambda/(1+p)}{1 + \min_{1 \leq j \leq m} \{\beta_j\}} \leq 1. \quad (5.8)$$

Consequently, we have the assertion (5.5) with the aid of Theorem 1.

For $\alpha_j = \alpha$ and $\beta_j = \beta$ ($j = 1, \dots, m$), Theorem 6 yields

COROLLARY 4. *Let each of the functions $f_j(z)$ ($j = 1, \dots, m$), defined by (5.3), be in the same class $\mathcal{T}_p(\alpha, \beta, \lambda)$. Also let*

$$\frac{2\lambda}{1+p} + \beta \geq 1.$$

Then

$$f_1 \star \dots \star f_m(z) \in \mathcal{T}_p(\alpha^m, \beta^m, \lambda). \quad (5.9)$$

Next we prove

THEOREM 7. *Let the functions $f(z)$ defined by (1.2) and $g(z)$ defined by (5.1) be in the classes $\mathcal{T}_p(\alpha_1, \beta_1, \lambda)$ and $\mathcal{T}_p(\alpha_2, \beta_2, \lambda)$, respectively.*

Then the modified Hadamard product $f \star g(z)$ belongs to the class $\mathcal{T}_p(2\alpha - \alpha^2, \beta, \lambda)$, where

$$\alpha = \min\{\alpha_1, \alpha_2\} \quad \text{and} \quad \beta = \max\{\beta_1, \beta_2\}. \quad (5.10)$$

Proof. Since

$$f(z) \in \mathcal{T}_p(\alpha_1, \beta_1, \lambda) \quad \text{and} \quad g(z) \in \mathcal{T}_p(\alpha_2, \beta_2, \lambda),$$

in view of Theorem 1, we have

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{\Gamma(n+1+p)\Gamma(1+p-\lambda)}{\Gamma(1+p)\Gamma(n+1+p-\lambda)} (1+\beta) a_{n+p} \\ & \leq \frac{2\beta(1-\alpha)\beta_0(1-\alpha)[2-2\lambda/(1+p)]}{1+\beta_0} \leq 2\beta\{1-\alpha(2-\alpha)\}, \end{aligned} \quad (5.11)$$

where $\beta_0 = \min\{\beta_1, \beta_2\}$. Moreover,

$$0 \leq \alpha(2-\alpha) < 1 \quad (0 \leq \alpha < 1).$$

Hence, by Theorem 1, the modified Hadamard product $f \star g(z)$ is in the class

$$\mathcal{T}_p(2\alpha - \alpha^2, \beta, \lambda),$$

with α and β given by (5.10).

COROLLARY 5. Under the hypotheses of Theorem 7, the modified Hadamard product $f \star g(z)$ belongs to the class $\mathcal{T}_p(\alpha, \beta, \lambda)$.

Proof. In view of Theorem 4, we have

$$\mathcal{T}_p(\alpha, \beta, \lambda) \supset \mathcal{T}_p(2\alpha - \alpha^2, \beta, \lambda), \quad (5.12)$$

which, in conjunction with Theorem 7, shows that

$$f \star g(z) \in \mathcal{T}_p(\alpha, \beta, \lambda),$$

where α and β are given by (5.10).

We conclude this section by proving an interesting theorem involving the modified Hadamard product defined by (5.2) together with extremal functions.

THEOREM 8. Let the functions $f_j(z)$ ($j = 1, 2$) defined by (5.3) be in the class $\mathcal{T}_p(\alpha, \beta, \lambda)$.

Then

$$f_1 \star f_2(z) \in \mathcal{T}_p(\gamma(p, \alpha, \beta, \lambda), \beta, \lambda), \quad (5.13)$$

where

$$\gamma(p, \alpha, \beta, \lambda) = 1 - \frac{2\beta(1-\alpha)^2(1+p-\lambda)}{(1+\beta)(1+p)}. \quad (5.14)$$

The result is sharp.

Proof. It suffices to prove that

$$\sum_{n=1}^{\infty} \frac{(1+\beta)\Gamma(n+1+p)\Gamma(1+p-\lambda)}{2\beta(1-\alpha)\Gamma(1+p)\Gamma(n+1+p-\lambda)} c_{n,1} c_{n,2} \leq 1 \quad (5.15)$$

for $\gamma \leq \gamma(p, \alpha, \beta, \lambda)$. By virtue of the Cauchy-Schwarz inequality, it follows from (2.1) that

$$\sum_{n=1}^{\infty} \frac{(1+\beta)\Gamma(n+1+p)\Gamma(1+p-\lambda)}{2\beta(1-\alpha)\Gamma(1+p)\Gamma(n+1+p-\lambda)} \sqrt{c_{n,1}c_{n,2}} \leq 1. \quad (5.16)$$

Thus we need to find the largest γ such that

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{(1+\beta)\Gamma(n+1+p)\Gamma(1+p-\lambda)}{2\beta(1-\alpha)\Gamma(1+p)\Gamma(n+1+p-\lambda)} c_{n,1}c_{n,2} \\ & \leq \sum_{n=1}^{\infty} \frac{(1+\beta)\Gamma(n+1+p)\Gamma(1+p-\lambda)}{2\beta(1-\alpha)\Gamma(1+p)\Gamma(n+1+p-\lambda)} \sqrt{c_{n,1}c_{n,2}}, \end{aligned} \quad (5.17)$$

or, equivalently, that

$$\sqrt{c_{n,1}c_{n,2}} \leq \frac{1-\gamma}{1-\alpha} \quad (n \in \mathbb{N}). \quad (5.18)$$

In view of (5.16), it is sufficient to find the largest γ such that

$$\frac{2\beta(1-\alpha)\Gamma(1+p)\Gamma(n+1+p-\lambda)}{(1+\beta)\Gamma(n+1+p)\Gamma(1+p-\lambda)} \leq \frac{1-\gamma}{1-\alpha}. \quad (5.19)$$

The inequality (5.19) yields

$$\gamma \leq 1 - \frac{2\beta(1-\alpha)^2}{1+\beta} \Psi(n) \quad (n \in \mathbb{N}), \quad (5.20)$$

where

$$\Psi(n) = \frac{\Gamma(1+p)\Gamma(n+1+p-\lambda)}{\Gamma(n+1+p)\Gamma(1+p-\lambda)}. \quad (5.21)$$

Since $\Psi(n)$ defined by (5.21) is a decreasing function of n ($n \in \mathbb{N}$) for fixed λ , we have

$$\gamma \leq \gamma(p, \alpha, \beta, \lambda) = 1 - \frac{2\beta(1-\alpha)^2\Gamma(1+p)\Gamma(2+p-\lambda)}{(1+\beta)\Gamma(2+p)\Gamma(1+p-\lambda)}, \quad (5.22)$$

that is,

$$\gamma \leq \gamma(p, \alpha, \beta, \lambda) = 1 - \frac{2\beta(1-\alpha)^2(1+p-\lambda)}{(1+\beta)(1+p)}, \quad (5.23)$$

which evidently proves the assertion (5.13) under the constraint (5.14).

Finally, by taking the functions

$$f_j(z) = z^p - \frac{2\beta(1-\alpha)(1+p-\lambda)}{(1+\beta)(1+p)} z^{p+1} \quad (j = 1, 2), \quad (5.24)$$

we can see that the result in Theorem 8 is sharp.

COROLLARY 6. *Let the functions $f_j(z)$ ($j = 1, 2$) defined by (5.3) be in the class $\mathcal{T}_p(\alpha, \beta, 1)$.*

Then

$$f_1 \star f_2(z) \in \mathcal{T}_p(v(p, \alpha, \beta), \beta, 1), \quad (5.25)$$

where

$$v(p, \alpha, \beta) = 1 - \frac{2\beta(1-\alpha)^2 p}{(1+\beta)(1+p)}. \quad (5.26)$$

The result is sharp for the functions

$$f_j(z) = z^p - \frac{2\beta(1-\alpha)^2 p}{(1+\beta)(1+p)} z^{p+1} \quad (j=1, 2). \quad (5.27)$$

Setting $\lambda=0$ in Theorem 8, we have

COROLLARY 7. *Let the functions $f_j(z)$ ($j=1, 2$) defined by (5.3) be in the class $\mathcal{T}_p(\alpha, \beta, 0)$.*

Then

$$f_1 \star f_2(z) \in \mathcal{T}_p(\delta(\alpha, \beta), \beta, 0), \quad (5.28)$$

where

$$\delta(\alpha, \beta) = 1 - \frac{2\beta(1-\alpha)^2}{1+\beta}. \quad (5.29)$$

The result is sharp for the functions

$$f_j(z) = z^p - \frac{2\beta(1-\alpha)^2}{1+\beta} z^{p+1} \quad (j=1, 2). \quad (5.30)$$

6. LINEAR COMBINATION OF FUNCTIONS IN THE CLASS $\mathcal{T}_p(\alpha, \beta, \lambda)$

Finally, we prove

THEOREM 9. *Let each of the functions $f_j(z)$ ($j=1, \dots, m$) defined by (5.3) be in the same class $\mathcal{T}_p(\alpha, \beta, \lambda)$.*

Then the function $h(z)$ given by

$$h(z) = \frac{1}{m} \sum_{j=1}^m f_j(z) \quad (6.1)$$

is also in the class $\mathcal{T}_p(\alpha, \beta, \lambda)$.

Proof. Substituting for $f_j(z)$ from (5.3) into the definition (6.1) of $h(z)$, we have the expression:

$$h(z) = z^p - \sum_{n=1}^{\infty} \left(\frac{1}{m} \sum_{j=1}^m c_{n+p, j} \right) z^{n+p}. \quad (6.2)$$

Since

$$f_j(z) \in \mathcal{T}_p(\alpha, \beta, \lambda) \quad (j=1, \dots, m),$$

by using Theorem 1, we obtain

$$\sum_{n=1}^{\infty} \frac{\Gamma(n+1+p)\Gamma(1+p-\lambda)}{\Gamma(1+p)\Gamma(n+1+p-\lambda)} (1+\beta) \left(\frac{1}{m} \sum_{j=1}^m c_{n+p,j} \right) \leq 2\beta(1-\alpha), \quad (6.3)$$

which, in view of Theorem 1, yields Theorem 9.

ACKNOWLEDGMENT

The present investigation was supported, in part, by the Natural Sciences and Engineering Research Council of Canada under Grant OGP0007353.

REFERENCES

1. A. ERDÉLYI, W. MAGNUS, F. OBERHETTINGER, AND F. G. TRICOMI, "Tables of Integral Transforms," Vol. II, McGraw-Hill, New York/Toronto/London, 1954.
2. V. P. GUPTA AND P. K. JAIN, Certain classes of univalent functions with negative coefficients. II, *Bull. Austral. Math. Soc.* **15** (1976), 467-473.
3. K. B. OLDHAM AND J. SPANIER, "The Fractional Calculus: Theory and Applications of Differentiation and Integration to Arbitrary Order," Academic Press, New York/London, 1974.
4. S. OWA, On the distortion theorems. I, *Kyungpook Math. J.* **18** (1978), 53-59.
5. S. OWA, On certain subclasses of analytic p -valent functions, *J. Korean Math. Soc.* **20** (1983), 41-58.
6. S. OWA, M. SAIGO, AND H. M. SRIVASTAVA, Some characterization theorems for starlike and convex functions involving a certain fractional integral operator, *J. Math. Anal. Appl.* **140** (1989), 419-426.
7. M. SAIGO, A remark on integral operators involving the Gauss hypergeometric functions, *Math. Rep. College General Ed. Kyushu Univ.* **11** (1978), 135-143.
8. S. G. SAMKO, A. A. KILBAS, AND O. I. MARICHEV, "Integrals and Derivatives of Fractional Order and Some of Their Applications," Nauka i Tekhnika, Minsk, 1987. [In Russian]
9. H. M. SRIVASTAVA AND R. G. BUSCHMAN, "Convolution Integral Equations with Special Function Kernels," Wiley, New York/London/Sydney/Toronto, 1977.
10. H. M. SRIVASTAVA AND S. OWA, An application of the fractional derivative, *Math. Japon.* **29** (1984), 383-389.
11. H. M. SRIVASTAVA AND S. OWA, A new class of analytic functions with negative coefficients, *Comment. Math. Univ. St. Paul.* **35** (1986), 175-188.
12. H. M. SRIVASTAVA AND S. OWA (Eds.), "Univalent Functions, Fractional Calculus, and Their Applications," Halsted Press (Ellis Horwood Limited, Chichester), Wiley, New York/Chichester/Brisbane/Toronto, 1989.